OPERACIONES CON NUMEROS ENTEROS

. —2-3-[-5@2-1)-3+4)]-8=
o —(-2+6-9)-5+1-3)-4+8)-(-5+2)=
o (2-3)-1+4-5)-3(-4+6)]|=

. —[-6(=3+5)4-2+8]=

o —3(-12:22 —6+1(-25:523))-4+6=

o s—2t (=3 4 5)-2f- (c143)4]=

c(-2+1)(=4+3-2)-2[-(-9+6)-4]=

. —(-5+8)+4—-(-1+6+2)-9+3)=

Solucién: -8

Solucion: -137

Solucion: -12

Solucién: 120

Solucion: 38

Solucion: 40

Solucion: 5

Solucion: 43



10.

11.

12.

13.

14.

15.

16.

17.

18

19

OPERACIONES CON POTENCIAS

22 4+2%:8-34+2=
%+3+42:2—(22)3:42=

3227 - (=52 4+ (-1f =8:22)+3

%—32+(6+2):22+1:

(2442 :2)43+(-2)' -1=
3234 (-1F —2+(82:24)-3=
—8:4+(12-2%)+5-(9:3)+6=
—2432:2%:245-(-3+2°+1)=
2-[a-3(a 20 )-6-32+7-(-1)° =

12022 —6+1(-25:573)| -4+ 6=

—[r+a3—(-2r2-6)+ (2° +6-53)+3-(5-2°:

Solucion: -1

15

Solucion: —

Solucion: 28

Solucion: -16/3

Solucién: 12

Solucion: 1

Solucion: 18

Solucion: 1

Solucién: - 17

Solucién: 14

Solucion: - 20



25.

21

22.

23.

20.

OPERACIONES CON FRACCIONES

Solucion: —

1
Soluciéon: ——

3
Solucion: ——

Solucién 52

. 44
Solucion: —

78

Solucion:




26.
2—l+4—5
27. 2 +— =] =+2-1+
3
2
28, | —3-L43 |3 -Lia])=
2 4 4
1 (1
7+7 _
2. 3 2. _5|_
4 3
30 |2 2|3 43=
4 3| 5

31.

. 65
Solucion: ———
576

Solucion: ——
N 40
Solucion: — —
» 35
Solucion: ——
Solucion: —

Solucion: 1—





